Transformations of Exponential Functions

Basic Function: y =c*

Transformed Function: f(x) =a(c)**™ +k

e a - vertical stretch. If negative a reflection in the x-axis
e Db - horizontal stretch. If negative, a reflection in the y-axis.
e h - horizontal translation

® k — vertical translation

Ex: Transform the graph of y = 4" to sketch the graph of Y = %(4)‘2(”5) -3.

Describe the effects on the domain, range, equation of the horizontal

asymptote, and intercepts.
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Ex: The radioactive element americium (Am) is used in household

smoke detectors. Am-241 has a half-life of approximately 432 years.
The average smoke detector contains 200 ug of Am-241.
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a) What is the transformed exponential function that models the
graph showing the radioactive decay of 200 pg of AM-2417?

b) Identify how each of the parameters of the function relates to the

transformed graph. frced Yo umdorslerd e conceg) of half-life
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